th-2 oA AD = /A 9 o]5EAolth AABD 9] YolE 12cm?
o|t}. AABC 9] Ho]&?

@ 25cm? @2)30cm? @ 40cm?
@ 45cm? ® ?ch

BD:DC=4:6=2:3°22 AABD : AADC =2:3
12: AADC=2:3

AADC = 18cm?

. AABC = 12 + 18 = 30(cm?)
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O 27 )28 ® 32 @ 36 ® 39
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3. o 1™ HPAHYP ABCD oA x, y 7S At & L5}ho]at.
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=
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(AEB = /DAE (91Z}) 0|22 ABAE £ o|5H4 7%
AB =BE
y=5,5+x=8,x=3




4. & a8 e AABC Q] Hol7t 70em20] BD : DC = 4 : 3Y
o, AADC 9] Ho]&=?

A
B D C
@ 15cm? @ 20cm? @ 25cm?
@®)30cm? ® 35cm?
AADC 9] Hol&= = 70 x 5 _ 30(cm?)
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AB//DE, AF//DC °]t}. AD = 6cm, BC = 16em ¢
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> dE lcm
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MQ = PN = AD = 6(cm)
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2 197 22 HPAPHY ABCD oA H 0 = F tZ
olt}, AE: EB = 3: 1 9|1 AAEO 2] Ho]7} 18 & of|, HPA}
ABCD 9] Hol=?

® 6 @ 18 ® 24 @ 48 @96

AAOE ¢} ABEO ©f|A] &=o]&= 23l @Ho] 3: 1 0]B2 AAOE :
ABEO =3:1
-.ABEO = %AAEO =6

AAOB =6+ 18 =24
- OABCD =4 x AAOB = 24 x 4 = 96 ©|th.
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o2 283 22 ZAZEE ABCD ©] ¥ AD, BC 919l BE = FD 7}
HEEHE FELS HH, OEBFD = ol AFZFRJQ17F?
A E b
© sundaE  @uadwy o ng
@® AN ® A7

AABF = ACDF (RHA@5) 0|22
AE = CF W#A ED = BF
%% BE = DF |2 & nEBFD & B JAAF o]t
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th& 2714 A P 7 ACBD o LAY W, aPBC 9] HolE 7}

ofzt.

>
[> Heh. 48 cm?

A P ol A BC of Wl 5419] e H 2 5h4
AP:CP—=2:3 BH:CH=2:3
PH : AB = CH:CB
m:8:3:5,ﬁ:234(cm)

1 24
% APBC = o x 20 x = = 48(en?)




10. o 1™ 22 ZAEE ABCD oA = ¥ AB, BC o] 482 247
P,Q g3t AQ & PC o wd& R 2o, DPBQRA W ol=?
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B ff Q ff C
@ 20cm? @ 22cm? 3 )24cm?
@ 26cm? ® 28cm?

~&B )

AABC oA, A R 2 F 49 w¥olnz H R AABC 9
DAZ=Ao|BE2 CR:RP=2:1

APBC = % X 6% 12 = 36(cm?)
ARBC = ; X 36 = 24(cm?)

ARQC = % X 24 = 12(cm?)

- OPBQR = APBC - ARQC= 36 — 12 = 24(cm?)
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oAl Aol Yghe v FA st o Uﬂ
IEAE] Yol&=?

& T
3cm 10cm
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Ay

® 307 cm?

O A 22 AE T F HAE S H3H]
7}1:20|B& Bolo Hl:=1:4 0]
97 : x = 1: 4 02tA x = 36n(cm )
ojr}.




12.

th& ZALZFe ABCD oA AD = 18 em©|th. A M, N©o| AD, BC
T o, oMPNQ ] Ho]& vEA] 27

A M D

/

6cm| 5

\ Q

B N C
@ 18cm? @ 21cm? @ 24 cm?
@®)27 cm? ® 30cm?

_(q

AB = AMo|B&
AMPN = iDABNM

oMPNQ = iDABCD

1
=-X18x%x6
4:>< X

= 27 (Cm2)




13. t2 2983 Zo] AD // BCQl SHIATE]E ABCDo|A4] AD = DC,
(DAC = 34°Y 1, /x 2] A7]& Fatoiet,

L
o

| 2
> Mg 78°

L/CAD = 34°0]1, AADC 7} o] 5HA 7 o) B 2
L/CAD = /ACD°]al, /ADC = 180° — 68° = 112° ]t}
- /DCB = 180° — 112° = 68° = /ABC

/ABC + /BAD = 180° 0| L& 34° + /x + 68° = 180°
Slx=T8°
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=6, BC = 8, BD = 10 ?I 2424 ABCD of| 4]
A4 BD E A= AR 510 H C7H A E o =5 H2 Zolr.
D ¢} BE o] 4 P oA BD o W& 40 ¢ Q=2 o, aBQP

~&B

/PBQ = /QBC (H
/QBC = /PDQ (97
. APBD £ o| 547+
A P oA BD o & =42 BD € °| &2
/BQP = /BED = 90° , /PBQ = /DBE (&%)
ABQP & ABED (AA )
wratA] = Azt ol g2Hl=BQ:BE=5:8
ABED 9] Ed|9] Zol= 6+ 8 + 10 = 24,
ABQP 9] Ed9] do]& x 2 5tH
x:24=5:8
24 X5
T8
or2bA ABQP 9] &89 dol+= 15 o]t

oma)
71—)
Z
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15. o2 294 AD = BD, DF = EF ©|t}. CE = 7cm

¢ o, BC 9

4ol & Fstoiet.
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D
B C 7cm E
> cm
> HE:. 14 cm
A
D,

B C 7em E
3 D & A1 BE o Wah<d F At AC 2] ¥ H 21
5l ADFH = AEFC(SASE-%5) ©]2& DH = CE = 7(cm)
AABC °4 BC = 2DH = 14(cm)




